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Question1 JizEFATNE LTS
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public class Question1 {
public List<Integer> diffWaysToCompute(String input) {
List<Integer> ways = new ArrayList<>();
for (inti = 0; i < input.length(); i++) {
char ¢ = input.charAt(i);

|f( ::'+\I ||c::'—I ||C::'*'){
// AEIRE TN F AR

List<Integer> left = diffWaysToCompute(input.substring(O0, 1));
List<Integer> right = diffWaysToCompute(input.substring(i + 1));
for (int | : left) {
for (int r : right) {
switch (c) {
case '+"
ways.add(l + r);
break;
case '-"
ways.add(l - r);
break;
case "*"
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ways.add(l * r);
break;
}
}
}
}

}
// IATER ST, BERREEE
if (ways.size() == 0) {
ways.add(Integer.valueOf(input));
}

return ways;
}
}
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*/
public class Question2 {
public List<TreeNode> generateTrees(int n) {

List<TreeNode> ans = new ArrayList<TreeNode>();

if (n==0){
return ans;

}

return getAns(1, n);

}

private List<TreeNode> getAns(int start, int end) {

List<TreeNode> ans = new ArrayList<TreeNode>();

[/WRHEBEE, & null IINERF
if (start > end) {
ans.add(null);
return ans;
}
[IRB—M T, S8 FE— IO GRF
if (start == end) {
TreeNode tree = new TreeNode(start);
ans.add(tree);
return ans;

}
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for (inti = start; i <=end; i++) {
// papi=1
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List<TreeNode> leftTrees = getAns(start, i - 1);

/1SR FrE R e T

List<TreeNode> rightTrees = getAns(i + 1, end);
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for (TreeNode leftTree : leftTrees) {
for (TreeNode rightTree : rightTrees) {
TreeNode root = new TreeNode(i);
root.left = leftTree;
root.right = rightTree;
//MIANBIREERH
ans.add(root);
}
}
}
return ans;
}
}

class TreeNode {
int val;
TreeNode left;
TreeNode right;

TreeNode(int x) {
val = x;
}
}
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